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It is a very great pleasure to have an opportunity to speak here at the University of the Thai Chamber of Commerce on what I regard as a critical problem at what the world is facing today - Why global markets have not reduced inequality. It is unquestionably true that in the last 25 years there has been an enormous increase in globalization, and by globalization I mean that more goods were traded between countries and that there is more production of goods across national boundaries. 

What do I mean by more production of goods across national boundaries? Take the phenomenon that Americans and Europeans have encountered all the time. They often run into trouble with their computers and need some advice about what to do. There is typically a telephone number you can call for technical assistance, but when you call that number you do not get someone in the U.S. or in Europe, but someone in India, and this is an everyday example of the internationalization of production. We are instantly linked to people everywhere in the world as part of the production process. That is a very important part of globalization which I will emphasize later on. 

Why has globalization occurred? It occurred because first of all transportation costs have fallen over time quite dramatically, and even more important communication costs have fallen dramatically over time. We can now communicate through electronic means instantly for almost no cost. There has also been a change in the international legal environments. We now have very important international trade agreements which essentially eliminate most important tariffs; this is true in North America with the North American Free Trade Agreement; this is true in Europe with the European Union and here in Southeast Asia with the China ASEAN Free Trade Area. The world is gradually getting rid of trade barriers, and this is promoting globalization. 

Globalization has brought with it many promises. One promise that its supporters made when globalization got underway was that this was going to help the poor countries of the world, and it was going to create prosperity where before there was only poverty, and there is a sense in which this promise has been achieved at least to a certain extent. The most spectacular example of success of prosperity through globalization has been in China and India, both of which have grown by spectacular amounts over the last 20 years. In both cases that success had a great deal to do with their operations in global markets, but China and India are very far from the only examples of poor countries achieving some degrees of prosperity through globalization.

The gap between the rich and the poor

Unfortunately there was another promise that was made which was not delivered, and that was the promise that the gap between the rich and the poor, the haves and the have-nots in poor countries would be reduced. In other words it was suggested by the proponents of globalization that globalization would reduce inequality. In this case sadly just the opposite has been true in many countries of the world. One particular example I could give you is an example that I have studied myself. I am going to talk about Mexico, but I could be talking about Cambodia instead since the same story applies to Cambodia too. Mexico joined the what is called General Agreement on Tariffs and Trade which was an agreement which lowered the tariffs that it faced in 1985. This agreement had the effect of reducing tariffs by more than 50%, and almost overnight there was a dramatic increase in the amount of foreign investments in Mexico. 

In fact, over the course of five years foreign investment quadrupled, increased by a factor of four. At the same time incomes of white collar workers, these are highly skilled workers, went up by a very significant amount - 13%, but the wages of blue collar workers, workers without high-skill level and without much education, actually declined by 14%. This is by no means a story which is unique to Mexico. The same story applies to many countries in Latin America and also to many countries in Southeast Asia. Now you might ask: Why does this matter? If the average prosperity of the country goes up, why should we care if inequality goes up, if the gap between the rich and the poor goes up? I would argue that there are at least three reasons why we should be very concerned about this increase in inequality. 

The first is simply a moral argument. We are all human beings, and therefore we should all be treated equally to the extent that this is possible. However thanks to globalization we see that different people are being treated extremely differently which offends our egalitarian or moral instinct. But even if you do not accept that argument, you have to remember that particularly in poor countries the bottom half of the income distribution typically corresponds to people in desperate circumstances. These are the poorest people of the world. These are people who are living well below the poverty line, and so even if you do not really care about inequality per say, you may be attracted to the idea that doing something about this desperate poverty is an important imperative. And even if you don’t accept that argument either, you might be a political realist and recognize that inequality contributes to social and political instability. Simply for the sake of having a stable society it is important to do something about inequality. Thus for all those reasons I would submit that inequality is something that we must react to.


Should we be surprised by the fact that inequality has gone up in poor countries because of globalization? Is this something which contradicts common sense or contradicts what we thought we knew? Interestingly the answer is yes. There is a very well established theory in economics called the Theory of Comparative Advantage, a proposition that goes back 200 years to the early 19th century and the British economist David Ricardo. It has been a very successful principle in predicting what had happened in previous globalizations. The globalization that we are going through now is by no means the first. 

 The Theory of Comparative Advantage

There had been at least three previous globalizations in the last several hundred years. The most important before the current one was in the late 19th century and the early 20th century, and in every previous globalization inequality decreased, not increased. The Theory of Comparative Advantage predicts that free trades will reduce inequality in poor countries. That means there is something different about the current globalization. Let me try to explain why the Theory of Comparative Advantage predicts that inequality should decrease. Any explanation for trade has to explain why a country trades with one another. The Theory of Comparative Advantage states that countries trade with one another because they are different; they are different in particular in their factors of production. What do I mean by factor of production? The factor of production is just an input in the production process. Labor, for example, is the input of the production process. In order to get goods and services you have to put something in the system, and labor is one important input. Another input into the production process is capital which could be machinery or it could be technology. Capital we think of as physical or financial. Land is another input. For my purposes today I will just concentrate on labor, in particular high-skill and low-skill labor. 

In order for me to talk about the Theory of Comparative Advantage, I will consider a rather simple scenario that there are two countries, one is a rich country like the U.S. and the other is a poor country like Mexico. Now the question is why the U.S. is rich and Mexico is poor: The simplest explanation is the U.S. has a higher proportion of skilled workers. It has a higher, better trained, better educated workforce. Proportionately it is a bigger country, but it is the education per capita that matters. The education matters, not the size of the country. Because the U.S. has a higher proportion of high-skill workers, it has a comparative advantage in producing goods which require a lot of high-skill labor. So, for example, the U.S. has a comparative advantage to produce high tech products like computer software. Similarly Mexico has a comparative advantage in producing goods where high-skill labor does not matter so much such as agricultural products, corn for example. 

How globalization affects production

To see how globalization affects production, let us look at production before globalization takes place. We will then look at the production after the trade barriers have been removed, after globalization has occurred. Before the trade has occurred, if Americans are to be able to consume both software and corn, American companies have to produce both because we assume that they could not import these goods from overseas due to high trade barriers. Similarly Mexican companies will have to produce both software and corn for their consumers. That is an inefficient use of their labor force. They are better designed, according to the theory, to produce corn because their labor force is unskilled. Thus, if the Mexican production is diverted into software, that is an inefficient use of labor force. In fact Mexican low-skill workers will be hurt by the software production because they do not need the low skill workers, and that reduces the demand for them. At the same time the software production raises the demand for high-skill workers and thus there is going to be upward pressure on high-skill wages, downward pressure on low-skill wages. The low-skill workers are not needed so much; the high-skill workers are needed a lot. 

What happens when the trade barriers are removed in this globalization? Now it is no longer necessary for the U.S. to produce corn, and they can shift production from corn to software and import corn from Mexico. Similarly Mexico can shift production away from software to corn and now import their software from the U.S. What effect will this have on wages? 

Mexico will now be producing more corn and less software than before. That will raise the demand for low-skill workers because corn production requires a lot of low-skill labor. Therefore the need for low-skill work is increased while the demand for high-skill labor is reduced. High-skill wages will fall; low-skill wages will rise and inequality will be reduced. This is a classic argument that all supporters of globalization used to give for why globalization would help the poor. This argument is not new, it goes back hundreds of years. It worked for many decades and applied to all previous globalizations, but it failed for the current globalization, and the question is why did it fail? 

One notable success of the Theory of Comparative Advantage was in the late 19th century when globalization came about, because the cost of transporting goods across the Atlantic Ocean went down; shipping costs went down. Europe at that point had the bigger proportion of low-skill workers compared with the U.S. What we saw was exactly what the theory predicted; a fall in equality in Europe because of globalization. Low-skill wages rose and high-skill wages came down in Europe. The theory however has not worked for the recent globalization which instigated anti-globalization movements suggesting that perhaps globalization was not such a good idea after all.  I have to say that I do not agree with the argument that globalization is not a good idea, because as I said at the beginning of my talk, even though inequality has increased, so has average prosperity as a result of globalization. Globalization has not been an out–and-out failure, it has many successes, too. 

Globalization as an internationalization of production

But we do want to understand why inequality has increased. That is a project I have been undertaking and started together with the economist Michael Kremer at Harvard. Let me tell you a little bit about the theory that we proposed which we think improves the Theory of Comparative Advantage. The essential starting place is to go back to thinking about globalization as an internationalization of production. For instance the very way that computers are manufactured these days is an international effort and a good example for the internationalization of production. Typically computers will be designed in the U.S.; they will be programmed somewhere else, perhaps in Europe, and then they will be put together in China. Complicated products like computers or pharmaceuticals are typically produced internationally. They cannot be confined to one country only. Let us think about globalization as the internalization of production. That is one ingredient. Another important ingredient to the theory is the idea that labor does not just come in two varieties, high-skill and low skill, but that there are many skill levels in between. For my purposes today I am going to assume that there are four levels, but that is just to simplify the discussion. In fact, there are many more than just four levels. Another ingredient is the idea that when something is produced, there are typically multiple tasks that have to be performed. Modern production consists of breaking up the production process into different tasks which different people do. Again I am going to simplify matters and suppose that there are two tasks. There is what we might call managerial task, the task that managers perform which is relatively sensitive to the skill level of the manager. And there is also a task of his subordinates which is not so sensitive to skill.  

I also suppose that there are two countries, just as in our comparative advantage example, a rich country and a poor country, the United States and Mexico, or the United States and Cambodia. The rich country we suppose has workers with skill levels A and B, and the poor country with C and D where A is bigger than B is bigger than C is bigger than D. The reason why the rich country is rich is because it has workers with higher skill levels than the poor country. 

How does output get produced? It gets produced by putting two people together to perform two tasks. Output is performed my matching a manager and a subordinate. How much output gets produced depends on skill levels of the people occupying those tasks or those positions. I am going to use a little bit of math here. I suppose that output equals the skill level of the manager square. The reason of squaring the skill level of the manager is just to get across the idea that output is very sensitive to the manager skill times the skill level of the subordinates. Output is not so sensitive to the subordinates’ skill level. 

The distribution of available labor skills

For example, if the manager has skill level 4 and the subordinate has skill level 3, output would be 4 X 4 X 3 equals 48. The way that workers are matched with one another is going to depend on the environment. It is going to depend on the distribution of the skills that are available, and that is why globalization is going to be important. Globalization will change the distribution of available skills. Now you will be able to get skills of people who live in different countries as well as skills of people who live in your own country. That’s just to give you an example of the different kind of patterns we could have. Let us imagine that the population consists of two workers of skill 3, we will call them level 3 workers, and there are two workers of skill level 4, and we will call those level 4 workers. Now, one way that they could be matched is a 4 worker with a 3 worker, and the other 4 worker could be matched with the other 3 worker. I call this cross-matching, because in this case each worker is matched with another worker of a different skill level. This produces a total output of 96. Another way that they could have been matched is the 4 with the other 4 worker, the 3 worker with the other 3 worker. This is what is called homogeneous matching because now the manager and subordinate have the same skill level, but this produces output which is less, which is only 91. 

Therefore, if we think there is a competition for workers, we would expect that looking at this matching produces higher output. Competition gives you greater efficiency, and greater efficiency here means this output rather than this output.  

This conclusion that we get homogeneous matching depends very much on the distribution of skill that is available. If we change that distribution, now we have two 4 workers and two 2 workers instead of two 3 workers, we get a different pattern of matching. If we compare cross matching with homogeneous matching, we find that homogeneous matching gives rise to higher output 72 rather than 64, so we do not always get cross matching, and we do not always get homogeneous matching; it all depends on the distribution of skills. This brings me to the comparison between what happens before globalization and what happens after globalization. Remember, I said that the rich country would have skill levels of A and B, and the poor country would have skill levels of C and D or lower. What pattern of matching do we get before globalization? 

The pre-globalization pattern that we will be able to get is that the A worker will be matched with a B worker in the rich country, and the C workers will be matched with D workers in the poor country. So we have cross matching in both countries before globalization, before production has been internationalized. When the barriers of international production come down, we get a completely different pattern. Now the C workers from the poor country are matched with the B workers in the rich country. The D workers are left all to themselves, and the A workers are left all to themselves. Think of it this way, before you could have international production, the D workers got the benefits of working with higher skilled people, the C workers. But once international production became possible, the C workers got a better opportunity overseas. They got to match with the B workers, which was very good for the C workers, but not so good for the D workers, because the D workers were forced to fend for themselves. They were left to their own devices. Let us explore the implications for wages. 


We see that before globalization, the D workers were matched with the C workers. That was good for them because they were working with higher skilled people, meaning that they were more productive. After globalization however D workers are left by themselves which means that their wages will fall as a result of globalization. At the same time the wages of the C workers go up because now they have this new opportunity, the opportunity to work in an international company with B workers. Think of C workers as Indian call center workers who now will have the opportunity to work for Microsoft or Dell overseas, so the consequences of all of this is: Inequality has risen, and the gap between the C workers and the D workers’ wages have gone up as a result of globalization which is a very different argument from Comparative Advantage. 

Raising the level of low-skill workers through education

What do we learn from this story? The whole problem according to the story is that the D worker’s skills are too low for them to be attractive to global markets. If we could somehow raise the skill levels of these D workers, they too would have international employment opportunities, matching opportunities, and they too would see their wages rise. Thus somehow we have to raise the skill levels of the D workers. The problem is that raising the level of skill is expensive. It costs something, and the question is who is going to pay for it. Producers are not expected to pay for it, because if the producer of the company invests in raising the D worker skill level, that worker can go off and work for some other companies. We do not have slavery, so people cannot be forced to work for the company that invests in them, and that means the investment in training from the company is lost. So, producers are not likely to invest enough in education to solve the inequality problem. The workers themselves, of course, can not make an investment themselves, because they are too poor to do so. They are, after all, at the bottom of the economic spectrum. That means some third parties are going to have to make the investment. It could be a domestic government. It could be some international agencies, an NGO perhaps. It could take the form of foreign aid. It could be some combination of all of the above. It could be a domestic government offering a subsidy to a private company for training its workers. But some third parties are going to have to get it into the act to solve the inequality problem. It is not going to happen on its own.

   If you accept this theory, and I think there is strong evidence behind this theory, we come away with the conclusion not that we should try to stop globalization, because after all globalization does, on average, increase prosperity, but rather to make the investment in low-skill workers, the D workers of the world, to enable them to benefit from globalization, too. That is the message. 
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